
 
 
 
 

                                           

FT9N120TL 
  FT9N120TLC 

FT9N130TL 
FT9N120TR 
FT9N130TR 
FT9N120CL 

  FT9N120CLC 
FT9N130CL 
FT9N120CR 
FT9N130CR 

 

 

 
CATALOGO RICAMBI 

SPARE PARTS CATALOGUE 
CATALOGUE PIECES DETACHEES 

ERSATZTEILKATALOG 
CATALOGO DE PIEZAS DE RECAMBIO 



TAVOLA 1

36

2
3

1

29 37

28

3031

5
17

15 6

4

11

14

13

12

7

18

25

32

33   

4
7

34

26

25

27

24

24

35

7

8

4

9

10

22

25

24

26
27

24

21

25

19

20

7

6

7

8

29 37

16



Pagina
1 A00616 ASS.PIASTRA LISCIA FT 1/2 GAS 900

ASS.PLAQUE LISSE GRILLE 400MM GAZ 900
SMOOTH HOT PLATE ASS. GAS GRIDDLE 1/2 M.
GLATTE PLATTE FÜR GAS BRATPL.1/2 M 

2 A00617 ASS.PIASTRA RIGATA FT 1/2 GAS 900
ASS.PLAQUE NERVUREE GRIL.400MM GAZ 900
RIBBED HOT PLATE ASS. GAS GRIDDLE 1/2 M.
GERILLTE PLATTE FÜR GAS BRATPL. 1/2 M.

3 A00618 ASS.PIASTRA L.CROMATAFT 1/2 GAS 900
ASS.PLAQUE LIS.CHRO.GRILLE 1/2 GAZ 900
SMOOTH CHROMED HOT PLATE ASS. GAS GRIDDLE 1/2 MODULE
VERCHROMTE GLATTE PLATTE FÜR GAS BRATPL. 1/2 M.

4 A00589 ASS.TERMOCOPPIA M9X1 FT CROMATO
ASS.TERMOCOUPLE M9X1 GRILLE CROMEE 
THERMOCOUPLE M9X1 ASS. FOR CHROMED GRIDDLE
THERMOELE. M9X1 FÜR VERCHROMTE PL. 

5 5509040 CAVO MM.400 FAST. CIL.4-2,4
CABLE D'ALLUMAGE L=400 MM 
IGNITION WIRE L=400 MM 
ZUENDKABEL L=400 MM 

6 A00477 ASS. PIEZO
ASS. PIEZO 
ASS. PIEZO 
PIEZZO 

7 434008050 TERMOCOPPIA  M8X1  L=500
THERMOCOUPLE  M8X1 L= 500 MM 
THERMOCOUPLE  M8X1 L= 500 MM 
THERMOELEMENT  M8X1 L= 500 MM 

8 436006 PILOTA ACC.3 VIE 020 D4 420
BRULEUR VEILLEUSE COMPLET 
COMPLETE PILOT BURNER 
ZUENDFLAMMENBRENNER KOMPLETT 

9 4398070 CANDELA M4 PILOTA 0100
BOUGIE D'ALLUMAGE 
IGNITION PLUG 
ZUENDELEKTRODE 

10 UGELLO VEDI TABELLA UGELLI MANUALE ISTRUZ.
VOIR FICHIER DES INJECTEURES 
SEE NOZZLE TABLE 
SIEHE DÜSEN TABELLE 

11 53403000340 TERMOSTATO SIC. TRIF. 340°C-25K
THERM. DE SECURITE TRIPH. 340 C 
THREE-PH. SAFETY THERM. 340 C 
DREIPH. SICHERHEITSTHERM. 340 C 

12 270201680 DADO PER BICONO 10/S-M20X1,5
ECROU POUR BICONE 10/S-M20X1,5 
NUT FOR NOSE CONE 10/S-M20X1,5 
MUTTER FUER BICONE 10/S-M20X1,5 

13 270201580 BICONO DM.10 S
BICONE DIAM.10 S 
NOSE CONE DIAM.10 S 
BICONE DIAM.10 S 

14 A00024 ASS.GOMITO 90°
RACCORD COUDE 90° 
90° ELBOW 
WINKELSATZ 90° 

15 A00583 ASS. RONDELLA REGOL. ARIA
ASS. RONDELLE REGLAGE DE L'AIR 
AIR ADJUSTMENT RING ASS. 
DICHTUNGSSCHEIBE SATZ FÜR LUFT REGELUNG

1



16 770350270 PIATTINA PER BARRA PORTABULBO DM.6
PLATINE MET.POUR TIGE SUPPORT BULBE 
FLAT BAR FOR BULB HOLDER BAR 
STAHLBAND FÜR KOLBEN HALTERUNG 

17 790117780 ASS. BRUCIATORE MULTIGAS 510
ASS. BRULEURE MULTIGAZ 510 
MULTIGAS BURNER 510 ASS. 
HAUPTBRENNERSATZ MULTIGAS 510 

18 UGELLO VEDI TABELLA UGELLI MANUALE ISTRUZ.
VOIR FICHIER DES INJECTEURES 
SEE NOZZLE TABLE 
SIEHE DÜSEN TABELLE 

19 BY PASS VEDI TABELLA BY PASS MANUALE ISTRUZ
VOIR FICHIER DES BY PASS 
SEE BY PASS TABLE 
SIEHE BY PASS TABELLE 

20 A00585 ASS.COND.RUB.PILOTA DX FT C/RUB
ASS.CONDUI.ROBINET VEILLEUSE DROITE GRILLE AVEC ROBINET
R.H. PILOT COCK PIPE ASS. W/COCK 
RECHTE LEITUNG ZUM PILOT 

21 A00584 ASS.CONDUTTURA RUB.BRUC.DX FT C/RUB
ASS.CONDUITE ROB.BRUL.DROITE GRILLE AV/ROBINET
R.H. COCK BURNER PIPE ASS. 
RECHTE LEITUNG ZUM GAS HAHN 

22 435210 RUBINETTO GAS VALVOLATO 21 S
ROBINET GAZ  21S 
GAS COCK 21S 
MEHRFACHSTELLGER AET  21S 

24 270201590 DADO PER BICONO DM.10
ECROU POUR BICONE DIAM.10 
NUT FOR NOSE CONE DIAM. 10 
MUTTER FUER BICONE DURCHM. 10 

25 270201600 BICONO DM.10
RACCORD BICONE DIAM.10 
NOSE CONE DIAM.10 
BICONE DIAM.10 

26 241204740 BICONO 4/S PER TUBO DM.4
BICONE 4/S POUR TUYAU DIAM.4 
NOSE CONE 4/S FOR PIPE DIAM.4 
MUTTER 4/S FUR ROHR D.4 

27 4392040 RACCORDO PER BICONO D4 M10X1
RACCORD POUR BICONE D4 M10X1 
JOINT FOR NOSE CONE D4 M10X1 
VERBIENDUNG FUER BICONE D4 M10X1 

28 LOGO LOGO PER MANOPOLA
LOGO POUR BOUTON 
LOGO FOR KNOBS 
LOGO FÜR KNEBEL 

29 770124670 ASS. MANOP.GAS PICC. C/PILOTA STYLE
ASS.BOUTON GAZ PETIT AV/VEILLEUSE 
SMALL GAS KNOB W/PILOT 
KNEBEL F.GASHERD KLEIN M/ZUNDFLAMM 

30 290202430 MOLLA PER MANOPOLA
RESSORT DE BOUTON 
KNOB SPRING 
KNEBELFEDER 

31 290204920 BORCHIA PER MANOPOLA BLU
ANNEAU POUR BOUTON BLEU 
BLUE RING FOR GAS KNOB 
BLAUEN RING FUER KNEBEL 



32 435223 RUB. TERM. 25ST FRONT. 140-300°C
ROB.TERM. 25ST FRONT 140-30°C 
THERMOST. COCK 25ST. 140-300°C 
THERMOST. HAHN 25ST. 140-300°C 

33 BY PASS VEDI TABELLA BY PASS MANUALE ISTRUZ
VOIR FICHIER DES BY PASS 
SEE BY PASS TABLE 
SIEHE BY PASS TABELLE 

34 A00590 ASS.COND.RUB.BRUC.DX FT C/RUB.TERM.
ASS.CONDUITE ROB.BRULEUR GAUCHE GRILLE AV/ROBINET
R.H. COOCK BURNER PIPE ASS W/COOCK 
RECHTE LEITUNG ZUM BRENNER 

35 A00591 ASS.COND.RUB.PILOTA DX FT C/RUB.TER
ASS.CONDUITE ROBINET VEILLEUSE DROITE GRILLE AV/ROB.THER.
R.H. PILOT COCK PIPE ASS. W/COCK 
RECHTE LEITUNG ZUM PILOT 

36 270205480 GRIGLIA DI GHISA SCARICO FUMI PIANO
GRILLE EN FONTE EVACUATION FUMES 
CAST IRON GRID F.FUMERISER 
GUSSEISEN ROST FUER ABGASE 

37 770124970 ASS. MAN.RUB.GAS TERMOST. STYLE
ASS.BOUTON ROB.GAZ TERMOST. 
THERMOST. KNOB ASS FOR GAS COOK 
THERMOST. KNEBELSATZ FÜR GAS HAHN 



TAVOLA 2

1

2

4 

2

6

3

3

3

8

7

55

3

3

2

9

9

9

10 

10

10

2

1

1

1

2



Pagina
1 290120510 ASS. PIEDE FLANG. DM.58 REG.95-160

ASS. PIED FLANG.REGABLE 9 DM.58 
FLANGED FOOT ASS. DM.58 REG.9 
GEFLANSCHTER FUSS DM.58 REG.9 

2 770346560 *ES*SUPP. CALAMITA DM.22
SUPP. AIMANT  DM.22 
UPPER MAGNET DM.22 
OBEREN MAGNET DM.22 

3 4198808 CALAMITA 22X3 GAMBO M6X10
AIMANT 22X3 - M6X10 
MAGNET 22X3 - M6X10 
MAGNET 22X3 - M6X10 

4 770112490 ASS. CERNIERA SUPERIORE SX
SUPP. CHARNIERE SUP. GAUCHE 
LEFT UPPER HINGE ASS. 
LINKE OBERE SCHARNIER 

5 741201310 BOCCOLA PER CERNIERA PORTINA
BOUCLE POUR CHARN. PORTE 
BUSHING FOR DOOR HINGE 
BÜCHSE FÜR TÜR SCHARNIER 

6 770116510 ASS. CERNIERA INF. SX ARM.
ASS. CHARN.INFER. GAUCHE ARMORE 
LEFT BOTTOM HINGE ASS.F.CUPBOARD 
LINKE UNTERE SCHARNIER F.SCHRANK 

7 770116520 ASS. CERNIERA INF. DX ARM.
ASS. CHARN.INF. DROITE ARM. 
RIGHT BOTTOM HINGE ASS.F.CUPBOARD 
RECHTE UNTERE SCHARNIER F.SCHRANK 

8 770112450 ASS. CERNIERA SUPERIORE DX
ASS.CHARNIERE SUPER.DROITE 
RIGHT UPPER HINGE ASS. 
RECHTE OBERE SCHARNIER 

9 A00518 ASS.PORTINA SX ARMADIO NEUTRO STYLE
ASS. PORTE GAUCHE PLACARD NEUTRE 
LEFT DOOR ASS.F.NEUTRAL CABINET 
LINKE TÜR FÜR NEUTRALSCHRANK 

10 A00517 ASS.PORTINA DX ARMADIO NEUTRO STYLE
ASS. PORTE DROITE PLACARD NEUTRE 
RIGHT DOOR ASS.F.NEUTRAL CABINET 
RECHTE TÜR FÜR NEUTRALSCHRANK 

2


